3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
DAM SHAPE
SQUARE "S' (TOP SURFACE AREA) A
CONCRETE STARRS
TOP
145 105
230 500 _ _
_ 75 % 50 x 6 L x 50 LONG
- BOLTED TO TOP OF STAR
D <l TOP OF CONCRETE STARS
| _\ WALLS TO
100 x 50 CHANNEL TO FIX 2 55 _//MA T SLOPE 45]
1600 MESH COVER TO IT. 50 x 50 x 5mm ANGLE FRAME o) —
SEE DRG. 0.54/390 SHT. 74 :
1550 | 720 { PLATE 750 2 B
_ | / SEE SECTION A-A © = ” SQUARE
0 1500 S0 I BASE 'S2’ (BASE SURFACE AREA)
THREE 100mm = =
30 BUTT HINGES 30 SEE DETAIL-1 ™ 50x5x165 LONG PLATE 1 / 25 % 25 1 2
1™ WELDED TO FRAME. Tl x 25 x 2mm
S = == 5 — EACH SIDE. s ELECTRICALLY CROSS-WELDED |50 PYRAMID FRUSTROM
L o S 1 STEEL WIRE MESH, CLAMPED BETWEEN
s —— — FLAT BAR AND ANGLE.. V=lHE 4 S2 4 48182 ]
1 50 x 50 x 5 L BOLTED TO PLATE
25 x 25 x 2mm M12 ANCHOR BOLT AND BOLTED TO STARS AS SHOWN. DETAIL = 7 ALTERNATIVE DLT 2 FRAME FIXING DESIGN DATA C
ELECTRICALLY CROSS—WELDED ® =S " .
wmmﬂ %mww\_xmm; CLAMPED BETWEEN MESH REINFORCEMENT . /0N 1:5 POSITION OF QUTLET PIPE INVERT. (SEE SECTION)
8 5 BETWEEN FRAME : NOT SHOWN
& FLAT BAR. .
o // DAM VOLUME I
M12 ANCHOR BOLT ° © %
o
| s| & () % oam voLuvE
A 100 x 100 x 5mm FLAT, © >
WTH {14 HOLE IN CENTRE. 25 x 25 x 5mm ANGLE, WELDED
WELDED TO ANGLE G PLATE 70 FRAME ON THREE SIDES WITH DIMENSIONS @ @m BASED ON THE S.G. RATIOS OF WATER D
- WITH Smm FILLET WELD. ; 6mm FILLET WELD. AND TRANSFORMER OIL WITH A 20% VOLUME SAFETY MARGIN TO EACH.
= 50 x 50 x 5mm ANGLE FRAME
) GUTTER BOLT AT 250 CRS.
20 x 5mm FLAT BARS CLAMPED TO MESH THEREFORE
20 x 5mm FLAT BAR BOLTED TO ANGLE
- WITH M6 GUTTER BOLTS @ 250mm CRS. > 50x50x5 L FRAME 2 TO CLAMP MESH WITH M6 GUTTER BOLTS. INVERT LEVEL OF OUTLET PIPE = @Bx OF THE OIL VOLUME. —
4 L o
S 50x5x165 LONG PLATE 1]l 3 {
WELDED TO FRAME _ . . . T
| = WITH 6mm FILLET WELD 3 TN L T TS
X A 7 _ X 30 20 SEE DETAIL-2 — == - : - 66,66% OF THE TOTAL VOLUME OF THE DAM IS THE TRANSFORMER -
30 30 - o === / OLL HOLDING CAPACITY.
@
DETAIL=1 N 25 x 25 x 2mm 3
100 x 50 CHANNEL FOR FIXING 20 ELECTRICALLY CROSS—WELDED ¢.g. HOLDING DAM FOR 80m™OF OIL
WELDMESH. SEE DRG. 0.54/390 SHT. 74 50 x 50 x 5 L WELDED TO ANGLE FRAME 1:10 Mwﬂw”sxxm\,u_%mnz%m\,%mc BETWEEN
AND BOLTED TO STARS AS SHOWN. i : —
4 — OFF. DAM DETAILS
SEE ELEVATION FOR POSITION 5050 x Smm- ANGLE. FRAME —
TP = 9,726 x 9,726m
PLAN ON TRAP DOOR ABOVE STAIRS SECTION X—X SECTION A=A BASE = 4,726 X 4,726m 120 x 66,66% = 80n? TRFR OLL F
10 TO BE 500mm M. BELOW THE LOWEST 1:5 DEPTH = 2,50m TOTAL HOLDING CAPACITY
CONTAINMENT INVERT LEVEL OF ANY 1:10 VOLUME
PLINTH TO BE DRAINED INTO DAM. WL
SLPE -
SEE DRAINAGE
BUND WALL LAYOUT FOR IL’s
SEE DETAIL G
TYPE AREA
o ol %%_o_% (AenetH | (B)LENGTH ® ® ® e
" 290 B.O.E COPING 200 EACH SIDE EACH SIDE VESH
7 \ ! W\ m _ 5 50m 3 7,784m 2,784m 2,500m 2,250m 0,250m 118m 2
SEIE) i Z/< 4 T Dﬂ WATER ONLY T0 " CONCRE T FLOOR SLAB 6 60m 3 8,324m 3,324m 2,500m 2,250m 0,270m 128m 2
/" L~ QULLET PPE DISCHARGE 2 Mg X 8 80m 3 9,726m 4,726m 2,500m 2,210m 0290m | t49m 2
¢ o=
N > i e e 249 10 100m 3 10,10m 5,110m 2,500m 2,190m 0,310m 168m 2
L pu g
8 gl 500 _ S mmw A 12 120m 3 10,862m 5,862m 2,500m 2,180m 0,320m 188m 2 H
Q P
z.ow.r S DAM FLOOR 15 150m 3 11,876m 6,876m 2,500m 2,170m 0,330m 25m 2
=, _Hm\H_ 16 160m 3 12,191m 7,191m 2,500m 2,160m 0,340m 223m 2
( hY i
= m— = o 18 180m 9 12,792m 7,792m 2,500m 2,150m 0,350m 2im 2
o
100mm  THICK WITH MESH REF. 245 = i 600 i 20 200m 3 13,359m 8,359m 2,500m 2,150m 0,350m 25m 2
INLET N PLACED CENTRALLY. _ _
= glz L N7/ 250 150 23 230m 3 14,244m 9.244m 2500m 2,150m 0350m  |284m 2
CONCRETE OUTLET PIPE
WALLS To 750 S0 DIAVETER 1O BE EQUAL BUND WALL DETAIL 1,om LONG BAFFLE WALL DETAILS J
SL0PE 45 T0 INLET PIPE DIAMETER
N.TS NTS
DAM_CONSTRUCTION DETAILS g:m%_:
N.T.S STRENGTH GRADE 4.8
TYPE | LENGTH NO. OFF K
M2 | 40mm LONG | 20
M12 | ANCHOR BOLT | 11
BOUNDARY TYPE FENCING WATER PRESSURE RELEASE VALVE:
SEE DRG. 0.54/398 .
)
W)
3, VALVES TO BE INSTALLED ONLY WHEN INSTRUCTED BY ESKOM L
._| S FOR AREAS WITH HIGH WATER TABLE.
i p— INSTALL FOUR VALVES IN FLOOR EQUALLY SPACED AS SHOWN ON PLAN IN CENTRE OF PANEL.
o
w
gl m_ VALVES TO BE UNDERDRAIN COMPLETE WITH HYDROSTATIC
1000 & - VALVE SUPPLIED BY "WATERLINES" AND INSTALLED TO MANUFACTURERS SPECIFICATION
4 S D, l TEL: 011 786 9623 OR SIMILAR APPROVED.
() o 500 §14 TYP. —
g L 30 M
S | 3 .
i . NOTES:
p— [Te) —
30 Q “ 2 o
— 3 L
NLET PPE |_.r - + 3 3 4 1. 100mm THICK CONCRETE WITH MESH REF. 245 (200x200x6,3mm) PLACED CENTRALLY -
BAFFLE HEADWALL = -t 3 3 S
° o SEE DRG. 0.54/390 SHT. 13A | Duh— i . 2. CONCRETE STRENGTH AT 28 DAYS/STONE SIZE: BLINDING = 20,19
3 7o) S a : :
i I [Se) 2= S
© 500x500x350 DP OUILET PIPE TO BE CLOSED e o gl = 3. CONCRETE TO HAVE WOOD FLOAT FINISH
® WITH25 x 25 x 3,15mm MESH =] 2 x .
© SUMP- —— — - = £ 4. ALL BULLDING AND CIVIL WORKS TO COMPLY WITH S.AB.S. 1200 SPECS. \
( a | S = foawar 2 2 5. FOR STANDARD CIVIL DETALS (DTL) REFER TO 0.54/390.
Q \J | _|— er m \VARVI J rm m w L . .
gl = “ | ! 6. THE DAM MUST BE COMPLETELY WATERPROOF.
- | 3 o . .
INLET QUTLET SEE DRAINAGE LAYOUT 14 SLoT :ﬁw ® W - Ly 7. FOR IL’s SEE DRAINAGE LAYOUT DRAWING.
DRAWING FOR OPEN 5 3 -
POSSIBLE HYDROSTATIC VALVE ® ° DRAIN TYPE AND 4 SEE LT . Bl = - 8. ALL STEELWORK TO BE GRADE 300W
SEE NOTES POSITION ~ 0 §14 SLOT - o
: - T —t SEOT N 9. ALL STEELWORK TO BE HOT DIPPED GALVANIZED TO SABS 763. I
— — 2 MK @ 1 OFF 10. WELDING SYMBOLS IN ACCORDANCE WITH SABS 0.44
A o Py . .
@) N 30 i = /N = AS DRAWN 11, ALL WELDS TO BE SEAL WELDED
_ ] _ - L
~ = & & 12. ALL HOLES TO BE {14mm UNLESS OTHERWISE SHOWN. (M6 GUTTER BOLT) 5
1:10 o
0 14 SLOT DETAIL MK@) 1 OFF  MKE) 1 OFF MK(©) 1 OFF zM@@@ I%W
12 AS DRAWN AS DRAWN AS DRAWN -
! 1.10 1:10 1:10
1-PERSONNEL GATE
POSITIONED TO SUIT MK @ 1 OFF MK @ 1 OFF MK @ 1 OFF
8 | DJCS. |02/02] ALTERNATIVE FIXING ADDED DIMS REVD | D.JA. | D.JCS. Q
OPP. HAND OPP. HAND OPP. HAND 7 |[DJS  |9/01 |MESH WRE THICKNESS CHANGED DBN | DJS
6 |DJS  |5/00 |VALVE ADDED & JOINT DET. REMOVED |DBN |_____| 398 |BOUNDARY FENCE
o 5 ___[2/98 |REDRAWN ON CAD & TRAPDOOR ADDED 5664 | JONT DETAILS
0 FIRST ISSUE / EERSTE UITREIKING 390 SH 74| WELDMESH COVER OVER DAM
REV AUTH DATE REVISION /REVISIES BY CHKD O m#\ REFERENCE DRAWINGS —
MAG DATUM | INDEX REF /INDEKSVERW D2,11,58 DEUR NAGES . VERWYSINGSTEKENINGE
N-SITU CONCRETE STRCASE T0 BE CAST reos —'SUBaTATON | TRANSFORMER OIL HOLDING DAM
MONOLITHICAL WITH PANELS. 1m WIDE TECHNOLOGY
PLAN WTH 250 RISER & 250 THREAD. DEPARTMENT | perals
s SEE DETAILS ON TRAP DOOR ABOVE STARS R
CAD DRAWING NAME: OILDAM.DGN
THIS DRAWING HAS BEEN CREATED wizs |GAC [ ESKOM
ON A C.AD. SYSTEM AND ANY o | DB Naude |FEB. | A7PROVEP GOEDGEKEUR REV
AMENDMENT TO THE DRAWING 1398 LRYAN O @uﬁ NVN@%
MUST BE EFFECTED ONLY SCALE ¢ m
ON THE SAME C.A.D. SYSTEM skaaL | AS SHOWN |||||_. 3/3/88 _ |||||||
3 4 5 6 7 8 9 10 X 12 13 14 15 16 17 18 19 20 _ 21 _ 22 oo AOL

PLOT SCALE 200




